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L (x+2)(2x+3) 1-5 HW Answer Key
2. (4x-3)(4x+1)

3. (x-6)(x-1)

4. (x-3)(x+2)

B. 2x(x+1)(x+2)

6. 3x(x+1)(x+3)

7. 3y(y-5)(y+1)

8. 4m(m+4)(m-4)

9. x?-3x+1

10. -2x%-7x+16

11. -9x?+2x-2

12. -10xy*23-35x%y2 2%+ 15x%y > 7*-25x%y *
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Factor and check)i#s 2and 4. Remember to check by multiplying the factors.
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Factor the following expressions completely.
5, 2 v oxt v dx _ pond ” 6. 3 #1238 + 9 - .5:'1'
—atanaz) Santrreingn) N3
= xR ) = (A3

7. 3y 127 - 19y ?;"7'?)4 8 4m’ - 6dm

YO VRS R TR R ST
4;(\;_5‘%(3{»\) = Yl )lm— Ch)
Sep 1-4:21 PM

Sep 1-4:21 PM

1-6: Sum/Difference of Cubes
Warm-up: Factor Completely.

1. x2-25 2.x*—625
*(x-5)x+5) *(x*-25)k*+25)
=(x-5)(w3) (K*+25)
Ts %38 = (x—2) (x—2) (x— 2)? Algebraically justify your answer.
: (><-?)(,<?-—<I>< 1—‘{)
x>-§ Fx2-bx 4l x- 8

followingtable to prepare for this factoring method.

We can factor binomials that are sums or differences of cubes. First completethe

Integer | Square | Cube
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Factoring sum or difference of cubes:

3+ b= (a+ b)(dy-ab+ b2 .
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Example: Factorx®— 8
Thisis % — 23, so we get:
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Try these. Remember
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Factor the following and verify that the factored eXpression is eqiiivalenttd'the original.
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x3+64
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